Guidance document 11

Personal Skills 1

Evaluate z when n€lin a polar form

Learning outcomes Write a complex number in polar form, and solving complex

problems in a polar form

Intended destination The theory of Moore Drive De values of Z" when n€lin a

polar form
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Find the result of a complex number in polar form and then write the answer in the

form a + bi.
No Problem (cosO°+isinB°)" a+bi
1| C14) [V2(cos135° + isin135°)]° | 8cis810 = 8i
2 la-i)°
3 @++/3i)° {2(cos60 + isin60 )} 256(cosa480 + isind80 )}
256(_—1+£i )= -128+128 /3
Y 2)

a (1+ /3 )7
5 N A

2 2

T T

6 2 2. % {1(c:os—+isin—)}30 1ci515—7[ =1(0-i) = -i

2 ! 4 4 2

8

! Eﬁf.] (-2+2i)*
8 AR B

T

Summary score
Score 10 points Made .....cccovviverninnenicniennes points

Instructor.  Mrs. Malaiporn uasuwan
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1. z = -5+12i 6. z = 1+2\/2i
2. z = -15-8i 7. z = 6-|—8_i
3.z = -3 8. z = —4—4\/3i
4. z = 5-12i 9. z = 3+3\/3i
5.z = 12-5i 10. z = \/2—\/2i
3)asvhlrdunadida
1995107 3 Vo4 | 699915071 & 993 1-/3i
2993071 4 V83 —4 7.9M507 4 993 -1
399915071 4 203 4-4+/3i 899571 2 V03 -2+2 /3
4993707 5 V89 32 999115107 4 V84 16
5995071 3 V03 (141)° 10.9915107 4 v84 81i
UDENALY
sin(A+B) = sinA cosB + cosA sinB cos(A+B) = cosA cosB + sinA sinB
cos15° = sin75° = ‘@;‘E = ‘/iél c0s18° = sin 72° :7\/10;26



